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KBagpaTHbIM ypaBHEHUEM
Ha3blBaeTCH ypaBHEHME
BUOa ax’+bx+c=0,

roe X —nepemMeHHas,

a, 8, C — HEeKOoTopble 4MCna,
npunyem a =0




yncnaa, 8 U c-
KoaggbuuueHmsl
KeaopamHoz20 ypa8HEHUS.
Hncno a Ha3bIBalOT NEPBLIM
KO PULIMEHTOM, YNCIIO 8 —
BTOPbIM KO PULIMEHTOM U
YUCIIO ¢ —CBODOAHBLIM YTEHOM.




[ lpuBeaeHHbIE
KBagpaTHbIe
YpaBHEHUA

X% -11x +30=0,
X%-6X=0,
X%- 8=0




HeroJsiHble KeaopamHhble
ypasHeHuUs.

-2X* +7=0,
3 x2-10x=0,
-4x%=0




1. ax?+c=0, 20e c #0
2. ax’+bx =0, 2c0e 8+0
3.ax°=0




CdopmynmpoBaTtb anropnuTm peLleHni
ypaBHEHUS BUAA

a) ax’+bx =0
6) ax?+c =0
8) ax’ =0




